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BECC-134 : PRINCIPLES OF

MACROECONOMICS–II

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from each Section as per

instructions given in each Section.

Section—A

Note : Answer any two questions in about

500 words each. 2 × 20 = 40

1. Explain how the IS curve is derived. What does

a point on the IS curve signify ? What are the

factors that influence the IS curve ?
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2. In the IS-LM model, explain how adjustments

in the economy take place, so that equilibrium

is maintained.

3. In the AS-AD model, explain the impact of

supply shocks and demand shocks on output

and prices.

4. (a) Distinguish between fixed exchange rate

and flexible exchange rate regimes.

(b) Explain how change in exchange rate takes

place.

Section—B

Note :Attempt any three questions in about

250 words each. 3 × 10 = 30

5. Define inflation. What are its types ?

6. Describe the impact of inflation on various

sections of society.
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7. Explain why balance of payments always

balances.

8. Distinguish between the concepts of adaptive

expectations and rational expectations.

Illustrate your answer.

9. Write a brief note on the types of

unemployment in an economy. Explain the

concept of natural rate of unemployment.

Section—C

Note : Attempt all the questions from this Section.

10. Distinguish between any three of the

following : 3×5=15

(a) Actual output and Potential output

(b) Nominal exchange rate and Real exchange

rate

(c) Devaluation and Depreciation
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(d) Cold Turkey and Gradualism

(e) Monetary policy and Fiscal policy

11. Write short notes on any three of the

following : 3×5=15

(a) Slope of the LM curve

(b) Balanced budget multiplier

(c) Net Exports

(d) Determinants of exports

(e) Purchasing power parity
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2 × 20 = 40

(IS) IS

IS

IS-LM
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(Shocks)

(Shocks) AD-

AS

(a) (Fixed Exchange Rate)

(Flexible Exchange Rate)

(b)

&

3 × 10 = 30

(inflation)

(Balance of Payments)
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(adaptive) (rational)

(expectations)

(natural rate of

unemployment)

&

3 × 5 = 15

(nominal)

(exchange rate)

(devaluation)
(depreciation)

(Cold Turkey)
(Gradualism)
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3 × 5 = 15

(LM) (Slope)

(Balanced Budget
Multiplier)

(Net Exports)

(Determinants of Exports)

(Purchasing Power
Parity)
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